Electron. Commun. Probab. 19 (2014), no. 39, 1–10. DOI: 10.1214/ECP.v19-2923 ISSN: 1083-589X

ELECTRONIC COMMUNICATIONS in **PROBABILITY**

Scale-free and power law distributions via fixed points and convergence of (thinning and conditioning) transformations

Richard Arratia*

Thomas M. Liggett[†]

Malcolm J. Williamson[‡]

Abstract

In discrete contexts such as the degree distribution for a graph, scale-free has traditionally been defined to be power-law. We propose a reasonable interpretation of scale-free, namely, invariance under the transformation of p-thinning, followed by conditioning on being positive.

For each $\beta \in (1,2)$, we show that there is a unique distribution which is a fixed point of this transformation; the distribution is power-law- β , and different from the usual Yule–Simon power law- β that arises in preferential attachment models.

In addition to characterizing these fixed points, we prove convergence results for iterates of the transformation.

Keywords: thinning, power-law, scale-free, degree distribution, Pareto distribution. AMS MSC 2010: Primary 60B10, Secondary 05C82. Submitted to ECP on July 10, 2013, final version accepted on June 23, 2014.

1 Introduction and statement of results

In the context of of random graphs, many authors define the term scale-free to mean that the degree distribution follows a power law - see for example [1, 4]. In this paper, we adopt a different point of view, in which scale-free means that the degree distribution is invariant under a natural transformation on the graph. As we will see, the power law property is then a consequence of this definition.

To motivate our transformation, consider a continuous random variable $X \ge 1$. It appears natural to say that its distribution is scale-free if cX conditioned on $cX \ge 1$ has the same same distribution as X, i.e.,

$$\mathbb{P}(X \ge x) = \mathbb{P}(cX \ge x \mid cX \ge 1).$$

It is not hard to check that the only such distributions are the Pareto distributions

$$\mathbb{P}(X \ge x) = x^{-\alpha}, \quad x \ge 1.$$

See [12, 14] for similar observations. One can also consider convergence to these fixed points, and easily show that

$$\lim_{c \to 0} \mathbb{P}(cX \ge x \mid cX \ge 1) = x^{-\alpha}, \quad x \ge 1$$

^{*}Department of Mathematics, University of Southern California, CA, USA. E-mail: rarratia@usc.edu

[†]Department of Mathematics, University of California Los Angeles, CA, USA. E-mail: tml@math.ucla.edu

[‡]Center for Communications Research, San Diego, CA, USA. E-mail: malcolm@ccrwest.org

if and only if the tail probabilities $\mathbb{P}(X \ge x)$ are of the form $L(x)x^{-\alpha}$, where L is slowly varying.

We consider now a discrete analogue of this setup. If D is a nonnegative integer valued random variable, cD is no longer integer valued, so we replace multiplication by thinning. A p-thinning of D is defined by

$$S_D = \sum_{i=1}^D X_i,\tag{1.1}$$

where X_i are i.i.d. Bernoulli (*p*) random variables that are independent of *D*. In terms of the probability generating function $G_D(s) = \mathbb{E} s^D$, this becomes

$$G_{S_D}(s) = G_D(1 - p + ps) = G_D(1 - p(1 - s)).$$
(1.2)

In the graph context, this corresponds to thinning by edges.

We are concerned here with fixed points of the transformation $T = T_p = T_{p,m}$ given by

$$T: D \to (S_D \mid S_D \ge m)$$

where m is an integer ≥ 1 , and convergence to these fixed points. (The case m = 1 is the most natural.)

There are other contexts in which fixed points and convergence of transformations that are the composition of two operations that change a distribution in opposite directions have been studied. Examples are [2, 7].

Similar questions for other families of transformations acting on discrete distributions have been studied before – see [5, 6, 18] for example. The main feature that distinguishes our setting from these others is the conditioning.

We will use two forms of the power-law- β property:

$$\mathbb{P}(D=k) \sim ck^{-\beta},\tag{1.3}$$

$$\mathbb{P}(D \ge n) \sim L(n)n^{1-\beta} \tag{1.4}$$

where $\beta > 1$ and L is slowly varying. The latter property is known as regular variation. Our characterization of fixed points is the following. It is proved in Section 3.

Theorem 1.1. Let *m* be a positive integer, and let *D* be a nonnegative integer valued random variable, with $\mathbb{P}(D \ge m) > 0$. The following are equivalent:

- The distribution of D is fixed by the transformation $D \mapsto T_{p,m}D$ for all $p \in (0,1)$.
- Either $D \equiv m$ is constant, or else D has power-law- β distribution (1.3), with $\beta = \alpha + 1, 0 < \alpha < m$, $\mathbb{P}(D < m) = 0$, and

$$\mathbb{P}(D = k+1)/\mathbb{P}(D = k) = (k-\alpha)/(k+1) \text{ for } k \ge m.$$
(1.5)

For the convergence results, we consider separately the cases of nontrivial and trivial fixed points. For the motivation for taking $p \downarrow 0$ in these results, see Remark 2.2 in the next section.

Theorem 1.2. Suppose the distribution of *D* is power-law- β , as specified by (1.4). Then for every integer $k \ge \beta$

$$\lim_{p \to 0+} \frac{\mathbb{P}(S_D = k)}{\mathbb{P}(S_D = k - 1)} = \frac{k - \beta}{k}.$$
(1.6)

ECP 19 (2014), paper 39.

Scale-free laws via thinning

Theorem 1.3. Take $m \ge \beta - 1$, and suppose the distribution of D is such that (1.6) holds for $k \ge \beta$. Then the distributions of $(S_D | S_D \ge m)$ are tight as $p \downarrow 0$. It follows that these distributions have a limit as $p \downarrow 0$, which is the fixed point described in (1.5) in case $\beta < m + 1$, or $\mathbb{P}(D = m) = 1$ in case $\beta = m + 1$.

Theorem 1.4. Suppose $ED^{k-1} < \infty$. Then

$$\lim_{p \to 0} \frac{\mathbb{P}(S_D \ge k)}{\mathbb{P}(S_D = k - 1)} = 0,$$
(1.7)

provided that the denominator above is strictly positive. As a consequence, if $ED^m < \infty$ and $\mathbb{P}(D \ge m) > 0$, then

$$\lim_{n \to 0} \mathbb{P}(S_D = m \mid S_D \ge m) = 1.$$

These three results are proved in Sections 4 and 5. In the final section, we prove that the nontrivial fixed points are infinitely divisible.

2 The tranformations $T_{p,m}$ and their fixed points

If D is a nonnegative integer valued random variable and $0 , the p-thinning <math>S_D$ of D, defined by (1.1), has, using the notation $(z)_k = z(z-1)\cdots(z-k+1)$ for the falling product,

$$\mathbb{P}(S_D = n) = \sum_{l=n}^{\infty} \mathbb{P}(D = l) \binom{l}{n} p^n (1-p)^{l-n} = \left(\frac{p}{1-p}\right)^n \frac{1}{n!} \sum_{l=n}^{\infty} (l)_n (1-p)^l \mathbb{P}(D = l).$$
(2.1)

Fix an integer m = 1, 2, ... For $p \in (0, 1)$, the transformations $T \equiv T_p \equiv T_{p,m}$ for which we consider fixed points and convergence of iterates are given by

$$\mathbb{P}(TD = l) = \mathbb{P}(S_D = l \mid S_D \ge m).$$
(2.2)

In Section 3, we will prove that the fixed points of the transformation are precisely those described by (2.3) - (2.6) below, and in Section 4 and 5 we will prove results where these fixed points arise as limits of iterates of the transformation.

Remark 2.1. We are referring here to distributions that are fixed points for all *p*, not just for some *p*. It would be interesting to know whether these are the only fixed points for a given *p*.

For m = 1, 2, ..., the distribution with $\mathbb{P}(D = m) = 1$ is a trivial fixed point of $T_{p,m}$. For m = 1, all nontrivial fixed points have the form: for some $\alpha \in (0, 1)$,

$$G_D(s) := \mathbb{E} s^D = 1 - (1 - s)^\alpha =: \sum_{k \ge 0} c_k(\alpha) s^k.$$
(2.3)

The right hand side of (2.3) defines $c_k(\alpha)$ to be the coefficient of s^k in $1 - (1 - s)^{\alpha}$, so for $k \ge 1$, $c_k(\alpha) = (-1)^{k-1}(\alpha)_k/k!$, and for m = 1, with the restriction $\alpha \in (0, 1)$, $\mathbb{P}(D = k) = c_k(\alpha), \ k = 1, 2, \dots$.

In general, for m = 1, 2, ... and $\alpha \in (0, m)$ there is a nontrivial fixed point for $T_{p,m}$, which is power-law- β for $\beta = 1 + \alpha$, with

$$G_D(s) := \mathbb{E} s^D = \frac{1 - (1 - s)^\alpha - \sum_{1 \le k < m} c_k(\alpha) s^k}{1 - \sum_{1 \le k < m} c_k(\alpha)},$$
(2.4)

ECP 19 (2014), paper 39.

Page 3/10

and this gives all nontrivial fixed points of $T_{p,m}$. A unified description of the fixed points (for all p) of $T_{p,m}$, including both the trivial fixed point, obtained by taking $\alpha = m$, is: $1 + \alpha = \beta \in (1, m + 1]$, $\mathbb{P}(D \in \{m, m + 1, m + 2, ...\}) = 1$, $\mathbb{P}(D = m) > 0$, and

$$\frac{\mathbb{P}(D=k+1)}{\mathbb{P}(D=k)} = \frac{k-\alpha}{k+1}, \quad k \ge m.$$
(2.5)

or equivalently, shifting the dummy variable k by 1,

$$\frac{\mathbb{P}(D=k)}{\mathbb{P}(D=k-1)} = \frac{k-\beta}{k}, \quad k > m.$$
(2.6)

The Yule–Simon distribution for power-law- β has point probabilities given by $\mathbb{P}(D = k) = (\beta - 1) \Gamma(k) \Gamma(\beta) / \Gamma(k + \beta)$, and hence ratios

$$\frac{\mathbb{P}(D=k)}{\mathbb{P}(D=k-1)} = \frac{k-1}{k-1+\beta}.$$
(2.7)

In comparison with (2.6), both formulas have denominator minus numerator = β , for every k, but for non-integer β , (2.6) has the integer in the denominator, while the Yule–Simon ratio (2.7) has the integer in the numerator.

Remark 2.2. For each m = 1, 2, ..., it is true that for all $p, q \in (0, 1)$ one has $T_q \circ T_p = T_{pq}$; we omit the easy proof. It then follows that the k-fold iterate $(T_q)^k$ of T_q is T_p with $p = q^k$. Theorem 1.3 allows $p \to 0$ with only the restriction p > 0, and the special case where p goes to zero along a geometric sequence q^k yields convergence for iterates of the transformation T_q , for one fixed q.

3 Uniqueness

The goal is to show that, for m = 1, 2, ..., any distribution D on the nonnengative integers which is unchanged by p-thinning followed by conditioning on being at least m, for all $p \in (0, 1)$, is either the constant $D \equiv m$ or else, as specified by (2.6), the law with $1 < \beta < m + 1$ and ratios $\mathbb{P}(D = k) / \mathbb{P}(D = k - 1) = (k - \beta) / k$ for $k \ge m + 1$.

Lemma 3.1. Suppose A and B are two nonnegative integer valued random variables with probability generating functions G_A , G_B . Let m be a positive integer. Assume $\mathbb{P}(A \ge m) > 0$ and $\mathbb{P}(B \ge m) > 0$. Consider the statements

- (a) $\mathbb{P}(A = k) = \mathbb{P}(B = k)$ for all $k \ge m$.
- (b) $(A|A \ge m)$ and $(B|B \ge m)$ have the same distribution.
- (c) $G_A^{(m)}(s) = G_B^{(m)}(s)$ for all $s \in [0, 1)$.
- (d) $G_A^{(m)}(s) = c G_B^{(m)}(s)$ for all $s \in [0, 1)$, for some constant c > 0.

(Here $G_A^{(m)}(s)$ denotes the *m*th derivative of $G_A(s)$.) Then (a) if and only if (c), and (b) if and only if (d).

Proof. Let $a_k := \mathbb{P}(A = k)$ and $b_k := \mathbb{P}(B = k)$ so that $G_A(s) = \sum_{k \ge 0} a_k s^k$ and likewise for G_B . These are power series with radius of convergence ≥ 1 , hence differentiable term-by-term, with $G_A^{(m)}(s) = \sum_{k \ge m} k_{(m)} a_k s^{k-m}$ for |s| < 1, and likewise for G_B . This immediately shows that (a) implies (c); to see that (c) implies (a), given $k \ge m$, differentiate k - m times and evaluate at s = 0.

The equivalence of (b) and (d) follows, with $c = \mathbb{P}(B \ge m) / \mathbb{P}(A \ge m)$.

Scale-free laws via thinning

We apply this with A = D and $B = S_D$. We are looking for a fixed point of $D \mapsto TD$, where $TD \equiv T_{p,m}D := (S_D|S_D \ge m)$ and S_D is the *p*-thinning of D. Since $1 = \mathbb{P}(TD \ge m)$, we can have D and TD equal in distribution only if $1 = \mathbb{P}(D \ge m)$. Thus we assume that $1 = \mathbb{P}(D \ge m)$, so that $D = (D|D \ge m)$, and now we have a fixed point of $D \mapsto TD$ if and only if $(D|D \ge m) = (S_D|S_D \ge m)$. Combine Lemma 3.1 with (1.2), so that the two generating functions of interest are $G_A(s) = G(s)$ and $G_B(s) = G(1 - p(1 - s))$.

Write f for the mth derivative of G, so that

$$G_B^{(m)}(s) = (G(1-p+ps))^{(m)} = p^m f(1-p(1-s)).$$

Assuming that $1 = \mathbb{P}(D \ge m)$, we have a fixed point of $D \mapsto T_{p,m}D$ if and only if

$$f(s) = c p^m \times f(1 - p(1 - s)), \text{ for all } s \in [0, 1).$$

Lemma 3.2. Let f be a continuous function from [0,1) to $(0,\infty)$, with f(0) = 1, and let $p \mapsto c(p)$ be any function on (0,1). If

$$\forall p \in (0,1), \forall s \in [0,1), \quad f(1-p(1-s)) = c(p)f(s), \tag{3.1}$$

then for some constant d we have $f(s) = (1 - s)^{-d}$.

Proof. First let s = 1 - t so that (3.1) becomes

$$\forall p \in (0,1), \forall t \in (0,1], \quad f(1-pt) = c(p)f(1-t),$$

and then consider g(t) := f(1-t) so that the system to solve becomes

$$\forall p \in (0,1), \forall t \in (0,1], \quad g(pt) = c(p)g(t),$$
(3.2)

with g(1) = 1. Plugging in t = 1 we see that c(p) = g(p), and (3.2) becomes g(pt) = g(p)g(t). It follows that $g(u) = u^{-d}$ for some d.

Proof of Theorem 1.1. Start by assuming that D is a fixed point. We combine Lemmas 3.1 and 3.2, as in the remarks before Lemma 3.2, so that $G(s) = \mathbb{E} s^D$, f is the mth derivative of G, and the conclusion of Lemma 3.2 applied to f(s)/f(0) is that $f(s) = c(1-s)^{-d}$ with c > 0. [We have c = f(0) > 0 because $\mathbb{P}(D \ge m) > 0$ implies $\mathbb{P}(S_D = m) > 0$, hence $\mathbb{P}(D = m | D \ge m) = \mathbb{P}(S_D = m | S_D \ge m) > 0$, hence $c = m!\mathbb{P}(D = m) > 0$.]

In case d = 0, we have f is constant and $D \equiv m$. We cannot have d negative, since then the coefficient of s^1 in f is d, while G has nonnegative coefficients. In case d > 0, writing $[s^k]f(s)$ for the coefficient of s^k in f, so that $[s^k]G(s) = \mathbb{P}(D = k)$, we have for $k \geq m$

$$k_{(m)}\mathbb{P}(D=k) = [s^{k-m}]f(s) = [s^{k-m}](c(1-s)^{-d}) = c(-1)^{k-m}\frac{(-d)_{(k-m)}}{(k-m)!}.$$

Hence for $k \geq m$

$$\mathbb{P}(D = k) = c \, (-1)^{k-m} \, \frac{(-d)_{(k-m)}}{k!}$$

and

$$\frac{\mathbb{P}(D=k+1)}{\mathbb{P}(D=k)} = \frac{-(-d-(k-m))}{k+1} = \frac{k-\alpha}{k+1},$$

with $\alpha = m - d < m$. The requirement $\sum \mathbb{P}(D = k) < \infty$ implies that $\alpha > 0$.

The implication in the opposite direction is easy, again by combining Lemmas 3.1 and 3.2. $\hfill \square$

ECP 19 (2014), paper 39.

4 Convergence to nontrivial fixed points

Before proving Theorem 1.2, we state part of a Tauberian theorem that can be found on page 447 of [8]. Many other Tauberian theorems can be found in [3].

Theorem 4.1. Let $q_l \ge 0$ and suppose $Q(s) = \sum_{l=0}^{\infty} q_l s^l$ converges for $0 \le s < 1$. If L is slowly varying, $\rho > 0$, and $q_l \sim l^{\rho-1}L(l)$, then

$$Q(s) \sim \frac{\Gamma(\rho)}{(1-s)^{\rho}} L\!\left(\frac{1}{1-s}\right) \text{ as } s \uparrow 1.$$

Proof of Theorem 1.2. Write $H(k) = \mathbb{P}(D \ge k)$, so that (1.4) gives $H(k) = k^{1-\beta}L(k)$, where L is slowly varying. Sum by parts, make a change of variables in the second sum below, and apply the Tauberian theorem to each of the resulting sums. By (2.1),

$$P(S_D = k)k! \left(\frac{1-p}{p}\right)^k = \sum_{l=k}^{\infty} (l)_k (1-p)^l \mathbb{P}(D = l)$$

$$= \sum_{l=k}^{\infty} (l)_k (1-p)^l [H(l) - H(l+1)]$$

$$= \sum_{l=k}^{\infty} (l)_k (1-p)^l H(l) - \sum_{l=k+1}^{\infty} (l-1)_k (1-p)^{l-1} H(l)$$

$$= k! (1-p)^k H(k) + \sum_{l=k+1}^{\infty} (l-1)_{k-1} (k-lp) (1-p)^{l-1} H(l)$$

$$= k! (1-p)^k H(k) + k \sum_{l=k+1}^{\infty} (l-1)_{k-1} (1-p)^{l-1} H(l)$$

$$- p \sum_{l=k+1}^{\infty} (l)_k (1-p)^{l-1} H(l)$$

$$\sim k \Gamma(k-\beta+1) p^{\beta-k-1} L(p^{-1}) - \Gamma(k-\beta+2) p^{\beta-k-1} L(p^{-1})$$

$$= \Gamma(k-\beta+1) (\beta-1) p^{\beta-k-1} L(p^{-1}),$$

provided that $k - \beta + 1 > 0$. This gives (1.6) if $k > \beta$. If $k = \beta$, the above computation with k replaced by k - 1 gives

$$\sum_{l=k-1}^{\infty} l(l-1)\cdots(l-k+2)(1-p)^{l}\mathbb{P}(D=l) \sim (k-1)!H(k-1)+(k-1)L^{*}(p^{-1}),$$

so (1.6) holds in this case as well.

Convergence of the ratios of probabilities in (1.6) does not immediately imply tightness of the distributions of $(S_D | S_D \ge m)$ as $p \downarrow 0$. This tightness is needed to conclude that the iterates of the transformation converge to the appropriate fixed point. We therefore now turn our attention to that issue.

Proof of Theorem 1.3. Tightness of these conditional distributions means that

$$\lim_{k \to \infty} \limsup_{p \to 0+} \frac{\mathbb{P}(S_D \ge k)}{\mathbb{P}(S_D \ge m)} = 0.$$
(4.1)

Thus we need to deduce the asymptotics of ratios of tail probabilities from the asymptotics of ratios of point probabilities.

ECP 19 (2014), paper 39.

Page 6/10

A key identity that allows for this transition is

$$\frac{d}{dp}\mathbb{P}(S_D \ge k) = kp^{-1}\mathbb{P}(S_D = k).$$
(4.2)

Students of the theory of percolation will recognize this as a very simple form of Russo's formula – see page 35 of [9], for example. The proof of (4.2) is also simple: Use (2.1) to write

$$\mathbb{P}(S_D \ge k) = \sum_{l=k}^{\infty} \mathbb{P}(D=l) \left[1 - \sum_{n=0}^{k-1} \binom{l}{n} p^n (1-p)^{l-n} \right].$$
(4.3)

Differentiating gives

$$\frac{d}{dp}\mathbb{P}(S_D \ge k) = p^{-1} \sum_{l=k}^{\infty} \mathbb{P}(D=l) \sum_{n=0}^{k-1} \binom{l}{n} p^n (1-p)^{l-n-1} (lp-n).$$

To prove (4.2) one needs to check

$$\sum_{n=0}^{k-1} \binom{l}{n} p^n (1-p)^{l-n-1} (lp-n) = k \binom{l}{k} p^k (1-p)^{l-k}.$$
(4.4)

The easiest way to check this is to note that the two sides of (4.4) agree for k = 0, and differences of the two sides of (4.4) for successive values of k also agree.

By L'Hospital's Rule, whenever (1.6) holds, it follows from (4.2) that

$$\lim_{p \to 0+} \frac{\mathbb{P}(S_D \ge k)}{\mathbb{P}(S_D \ge k-1)} = \frac{k-\beta}{k-1}.$$
(4.5)

Using (4.5) repeatedly gives

$$\lim_{p \to 0+} \frac{\mathbb{P}(S_D \ge m+k)}{\mathbb{P}(S_D \ge m)} = \prod_{j=1}^k \frac{m+j-\beta}{m+j-1}.$$

Now (4.1) follows from this and the fact that $\sum_{j} (\beta - 1)(m + j - 1) = \infty$.

5 Convergence to trivial fixed points

Next we consider what happens in the less interesting regime $m < \beta - 1$.

Remark 5.1. If (1.4) holds with $m = \beta - 1$, then Theorems 1.2 and 1.3 provide the conclusion of Theorem 1.4 even though ED^m may be infinite.

Proof of Theorem 1.4. From (2.1) with n = k - 1 and the dominated convergence theorem, we see that

$$\mathbb{P}(S_D = k - 1) \sim p^{k-1} E \binom{D}{k-1} \quad \text{as } p \downarrow 0.$$
(5.1)

We need to show that

$$\lim_{p \to 0} \frac{\mathbb{P}(S_D \ge k)}{p^{k-1}} = 0$$

This will follow from (4.3) and the dominated convergence theorem provided that

$$1 - \sum_{n=0}^{k-1} \binom{l}{n} p^n (1-p)^{l-n} \le C(lp)^{k-1}$$
(5.2)

ECP 19 (2014), paper 39.

for some C depending only on k, and

$$1 - \sum_{n=0}^{k-1} {l \choose n} p^n (1-p)^{l-n} = o(p^{k-1})$$
(5.3)

as $p \rightarrow 0$ for each l. Both (5.2) and (5.3) follow from

$$1 - \sum_{n=0}^{k-1} \binom{l}{n} p^n (1-p)^{l-n} \le C(lp)^k$$
(5.4)

for some (different) constant C, again depending only on k; (5.4) is a Chernoff bound; see [10, formula (12)]. That (5.3) follows from (5.4) is immediate. To deduce (5.2) from (5.4) write

$$1 - \sum_{n=0}^{k-1} \binom{l}{n} p^n (1-p)^{l-n} = 1 - \sum_{n=0}^{k-2} \binom{l}{n} p^n (1-p)^{l-n} - \binom{l}{k-1} p^{k-1} (1-p)^{l-k+1}$$
(5.5)

and apply (5.4) to the first part of (5.5) with k replaced by k - 1.

The final statement follows from (5.1) with k = m + 1.

6 Infinite divisibility

We will show that the distributions in (2.4) are *infinitely divisible*; this is relatively easy, thanks to a result from renewal theory.

Proposition 6.1. Suppose the sequence $\{u(n), n \ge 0\}$ satisfies u(0) = 1,

$$u(n) > 0, u(n-1)u(n+1) \ge u^2(n)$$
 for $n \ge 1$ and $\lim_n \frac{u(n)}{u(n+1)} > 0.$ (6.1)

Let

$$\log\left(\sum_{n=0}^{\infty} u(n)s^n\right) = \sum_{n=1}^{\infty} \lambda(n)s^n.$$
(6.2)

Then $\lambda(n) \ge 0$ for $n \ge 1$.

Proof. Let $\{f(n), n \ge 1\}$ be the sequence associated to $u(\cdot)$ by the renewal equation:

$$u(n) = \sum_{k=1}^{n} f(k)u(n-k),$$
(6.3)

and consider the two generating functions

$$U(s) = \sum_{n=0}^{\infty} u(n)s^n \text{ and } F(s) = \sum_{n=1}^{\infty} f(n)s^n.$$

Multiplying (6.3) by s^n and summing for $n \ge 0$ gives

$$U(s) = 1 + U(s)F(s)$$
, or equivalently $U(s) = \frac{1}{1 - F(s)}$.

Therefore, (6.2) can be written as

$$\log[U(s)] = -\log(1 - F(s)) = \sum_{n=1}^{\infty} \frac{[F(s)]^n}{n}.$$

Kaluza ([11]) proved that $f(k) \ge 0$ for all $k \ge 1$. (See [13, Theorem 1] for generalizations of this statement; see also [16].) Therefore the series in (6.2) has nonnegative coefficients.

ECP 19 (2014), paper 39.

Page 8/10

The inequality in (6.1) is known as log-convexity of the sequence u. There is a long history of connections between log-convexity and infinite divisibility; see [17] [19] and [15, Thm. 51.3; Notes on p. 426], for example.

Corollary 6.2. For $m = 1, 2, ..., and \alpha \in (0, m)$, the probability distribution for D specified by (2.4) and (2.5) is infinitely divisible.

Proof. Let X = D - m, and define $u(n) = \mathbb{P}(X = n) / \mathbb{P}(X = 0)$ for $n \ge 0$. This yields

$$\sum_{n=0}^{\infty} u(n)s^n = \left[1 - (1-s)^{\alpha} - \sum_{k=0}^{m-1} (-1)^k \frac{(\alpha)_k}{k!} s^k\right] / (-1)^m \frac{(\alpha)_m}{m!} s^m,$$

so that u(0) = 1, u(n) > 0 for all n > 0 and $u(n)/u(n+1) = (m+n+1)/(m+n-\alpha)$, which is decreasing in n, so that (6.1) is satisfied. The probability generating function of X is

$$G_X(s) := \mathbb{E} s^X = \mathbb{P}(X=0) \sum_{n=0}^{\infty} u(n) s^n = \mathbb{P}(X=0) \exp\left(\sum_{n=1}^{\infty} \lambda(n) s^n\right),$$

and Proposition 6.1 shows that $\lambda(n) \ge 0$ for $n = 1, 2, \ldots$. Hence X is equal in distribution to $\sum_{n\ge 1} nZ_n$, where Z_1, Z_2, \ldots are independent, and Z_n is Poisson distributed with parameter $\lambda(n)$.

References

- Réka Albert and Albert-László Barabási. Statistical mechanics of complex networks. Rev. Modern Phys., 74(1):47–97, 2002. MR-1895096
- [2] David J. Aldous and Antar Bandyopadhyay. A survey of max-type recursive distributional equations. Ann. Appl. Probab., 15(2):1047–1110, 2005. MR-2134098
- [3] N. H. Bingham, C. M. Goldie, and J. L. Teugels. Regular variation, volume 27 of Encyclopedia of Mathematics and its Applications. Cambridge University Press, Cambridge, 1989. MR-1015093
- [4] Béla Bollobás and Oliver M. Riordan. Mathematical results on scale-free random graphs. In Handbook of graphs and networks, pages 1–34. Wiley-VCH, Weinheim, 2003. MR-2016117
- [5] Nadjib Bouzar. Discrete semi-self-decomposability induced by semigroups. *Electron. J.* Probab., 16:no. 39, 1117–1133, 2011. MR-2820072
- [6] Youri Davydov, Ilya Molchanov, and Sergei Zuyev. Stability for random measures, point processes and discrete semigroups. *Bernoulli*, 17(3):1015–1043, 2011. MR-2817615
- [7] Richard Durrett and Thomas M. Liggett. Fixed points of the smoothing transformation. Z. Wahrsch. Verw. Gebiete, 64(3):275–301, 1983. MR-0716487
- [8] William Feller. An introduction to probability theory and its applications. Vol. II. Second edition. John Wiley & Sons Inc., New York, 1971. MR-0270403
- [9] Geoffrey Grimmett. Percolation. Springer-Verlag, New York, 1989. MR-0995460
- [10] Torben Hagerup and Christine Rüb. A guided tour of Chernoff bounds. Inform. Process. Lett., 33(6):305–308, 1990. MR-1045520
- [11] Th. Kaluza. Über die Koeffizienten reziproker Potenzreihen. Math. Z., 28(1):161–170, 1928. MR-1544949
- [12] N. Krishnaji. Characterization of the Pareto distributions through a model of underreported incomes. *Econometrica*, 38(2):251–255, 1970.
- [13] Thomas M. Liggett. Total positivity and renewal theory. In Probability, statistics, and mathematics, pages 141–162. Academic Press, Boston, MA, 1989. MR-1031283
- [14] G. P. Patil and M. V. Ratnaparkhi. On additive and multiplicative damage models and the characterizations of linear and logarithmic exponential families. *Canad. J. Statist.*, 7(1):61– 64, 1979. MR-0549794

Scale-free laws via thinning

- [15] Ken-iti Sato. Lévy processes and infinitely divisible distributions, volume 68 of Cambridge Studies in Advanced Mathematics. Cambridge University Press, Cambridge, 1999. Translated from the 1990 Japanese original, Revised by the author. MR-1739520
- [16] D. N. Shanbhag. On renewal sequences. Bull. London Math. Soc., 9(1):79–80, 1977. MR-0428497
- [17] F. W. Steutel. Preservation of infinite divisibility under mixing and related topics., volume 33 of Mathematical Centre Tracts. Mathematisch Centrum, Amsterdam, 1970. MR-0278355
- [18] K. van Harn, F. W. Steutel, and W. Vervaat. Self-decomposable discrete distributions and branching processes. Z. Wahrsch. Verw. Gebiete, 61(1):97–118, 1982. MR-0671246
- [19] W. D. Warde and S. K. Katti. Infinite divisibility of discrete distributions. II. Ann. Math. Statist., 42:1088–1090, 1971. MR-0293691